
PHONE ORDERS
Monday - Friday
9:00 AM - 5:00 PM EST
Click for TOLL-FREE Number

BUY ONLINE

(800) 209-9624 | HOME | CONTACT | SHIPPING | RETURNS | CART

Part Number Search

Shop by engine/drive part number.
Original & matching parts for sale.

Manuals & Accessories

Shop by description, item number
or manufacturer's model number.

Why Us & Reviews Boat Repair Forum Video Gallery

Parts for Mercury Marine 7.5 HP ELECTRIC COMPONENTS

Revise Search: Start Over > Different Engine Model > Different Serial Number Range > Different Component

YOU ARE HERE: MERCURY > 7.5 HP > 3801458 THRU 4851692 (USA) > ELECTRIC COMPONENTS
« Previous | Next »

Reference numbers in this diagram can be found in a light blue row below — scroll down to order.
Each product listed is an OEM or aftermarket equivalent part. [ Example ]

BOAT ENGINE PARTS BOAT MOTOR MANUALS BOAT ACCESSORIES

Mercury Marine 7.5 HP ELECTRIC COMPONENTS Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

1 of 6 7/18/2015 11:38 PM



Reference numbers in this diagram can be found in a light blue row below — scroll down to order.
Each product listed is an OEM or aftermarket equivalent part. [ Example ]

Ref. No. Part No. Description Manufacturer List Price Your Price Order

#1 50-73531 STARTER MOTOR (1 required per assembly)

 50-73531 STARTER ASSY O NLA
(more info)

Unavailable

#2 11-20361 NUT, STARTER MOTOR STUD (2 required per assembly)

 11-20361 11-20361 - NUT Note: Must be 
ordered in multiples of 5 (more info)

$0.60 $0.60
10+ in stock.

Mercury Marine 7.5 HP ELECTRIC COMPONENTS Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

2 of 6 7/18/2015 11:38 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 11-826708 
9

11-826708 9 - Nut - Priced 
Individually (more info)

$1.00 $1.00
10+ in stock.

 18-3722-9
18-3722-9 - Lucknut, 121731, 
11-35888 (more info)
Replaces OEM #0121731 

$13.28 $7.33 Available to
order:
Usually ships
within 8 days

#3 54-47993 CLAMP, STARTER MOTOR ATTACHING (1 required per assembly)

 54-47993 CLAMP O NLA
(more info)

Unavailable

#4 10-34615 SCREW, STARTER MOTOR CLAMP (1") (1 required per assembly)

 10-34615 SCREW O - Replaced by 10-46378
(more info)

Unavailable

 10-46378 10-46378 - Screw, NLA (more info) $1.25 $1.25
10+ in stock.

#5 11-20088 NUT, CLAMP SCREW (1 required per assembly)

 11-20088 11-20088 - Nut, NLA (more info) $1.65 $1.65
10+ in stock.

#6
84-73539A 

1
WIRE ASSEMBLY, STARTING SWITCH (YELLOW) (1 required per assembly)
UNITED STATES 3801458 THRU 4691221 AUSTRALIA 8015315 THRU 8045674 BELGIUM
9043194 THRU 9150904 CANADA 7028598 THRU 7095422

 84-73539A 

1

WIRE ASSY O - Replaced by
84-76741A 1
(more info)

Unavailable

 84-76741A 
1

84-76741A 1 - Wire Assembly, NLA
(more info) $7.00 $7.00

2 in stock.

#6
84-76741A 

1
WIRE ASSEMBLY, STARTING SWITCH (YELLOW) (1 required per assembly)
UNITED STATES 4691222 AND UP AUSTRALIA 8045675 AND UP BELGIUM 9150905 AND UP
CANADA 7095423 AND UP

 84-76741A 
1

84-76741A 1 - Wire Assembly, NLA
(more info) $7.00 $7.00

2 in stock.

#7 87-73883 SWITCH, STARTING (1 required per assembly)

 87-73883 SWITCH O NLA
(more info)

Unavailable

#8 12-30516 WASHER, STARTING SWITCH (1 required per assembly)

 12-30516 12-30516 - Washer, NLA (more info) $2.50 $2.50
10+ in stock.

#9 11-74394 NUT, STARTING SWITCH (1 required per assembly)

 11-74394 NUT O NLA
(more info)

Unavailable

#10 74515 PROTECTOR, STARTING SWITCH (1 required per assembly)

 74515 PROTECTOR O NLA
(more info)

Unavailable

#11 84-73573 CABLE, BATTERY (1 required per assembly)

 84-73573 BATTERY CABLE O - Replaced by
84-72535A 4
(more info)

Unavailable

Mercury Marine 7.5 HP ELECTRIC COMPONENTS Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

3 of 6 7/18/2015 11:38 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 84-72535A 
4

84-72535A 4 - Cable Assembly (more 
info)

$79.60 $68.16 Available to
order:
Usually ships
within 8 days

#12 25-74444 GROMMET, BATTERY CABLE (1 required per assembly)

 25-74444 GROMMET O NLA
(more info)

Unavailable

#13 10-45742 SCREW, BATTERY CABLE ATTACHING (5/16") (1 required per assembly)

 10-45742 10-45742 - Screw (more info) $0.80 $0.80
10+ in stock.

#14 10-20031 SCREW, BATTERY CABLE ATTACHING (7/8") (1 required per assembly)

 10-20031 10-20031 - Screw - Priced 
Individually (more info)

$0.36 $0.36
10+ in stock.

 10-98253 10-98253 - Screw (more info) $0.80 $0.80
2 in stock.

#15
74367A 2 LIGHTING STATOR ASSEMBLY (1 required per assembly)

UNITED STATES 3801458 THRU 4691221 AUSTRALIA 8015315 THRU 8045674 BELGIUM
9043194 THRU 9150904 CANADA 7028598 THRU 7095422

 74367A 2 LIGHTING STATOR O - Replaced by
-74367A 8
(more info)

Unavailable

 74367A 8 STATOR ASSY O - Replaced by
-74367A12
(more info)

Unavailable

 74367A12 STATOR ASSY O - Replaced by
-74367A15
(more info)

Unavailable

 74367A15 STATOR O NLA
(more info)

Unavailable

#15
74367A 8 LIGHTING STATOR ASSEMBLY (1 required per assembly)

UNITED STATES 4691222 AND UP AUSTRALIA 8045675 AND UP BELGIUM 9150905 AND UP
CANADA 7095423 AND UP

 74367A 8 STATOR ASSY O - Replaced by
-74367A12
(more info)

Unavailable

 74367A12 STATOR ASSY O - Replaced by
-74367A15
(more info)

Unavailable

 74367A15 STATOR O NLA
(more info)

Unavailable

#16 10-73696 SCREW, LIGHTING STATOR ATTACHING (1 5/8") (2 required per assembly)

 10-73696 SCREW O NLA
(more info)

Unavailable

#17 62351A 2 RECTIFIER ASSEMBLY (1 required per assembly)

 62351A 2 RECTIFIER ASSY O - Replaced by
-62351A 1
(more info)

Unavailable

 62351A 1 RECTIFIER ASSY O - Replaced by
-816770
(more info)

Unavailable

 816770 RECTIFIER O - Replaced by -816770T
(more info)

Unavailable

Mercury Marine 7.5 HP ELECTRIC COMPONENTS Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

4 of 6 7/18/2015 11:38 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 816770T RECTIFIER O - Replaced by
-8M0058226
(more info)

Unavailable

 8M0058226 8M0058226 - Rectifier - Outboard
(more info) $56.08 $56.08

3 in stock.

 18-5707 18-5707 - Rectifier 816770 (more info) $38.06 $29.48
10+ in stock.

 154-6770 154-6770 - Rectifier (more info) $54.99 $37.25
3 in stock.

 AR351 AR351 - Rectifier (more info) $32.95 $28.68
10+ in stock.

#18 10-48408 SCREW, RECTIFIER TO MANIFOLD COVER (1/2") (2 required per assembly)

 10-48408 10-48408 - Screw - Priced 
individually (more info)

$1.61 $1.61
10+ in stock.

#19 23-62769 SPACER, RECTIFIER SCREW (2 required per assembly)

 23-62769 SPACER O NLA
(more info)

Unavailable

#20 11-45076 NUT, RECTIFIER TERMINAL (3 required per assembly)

 11-45076 11-45076 - Nut - Priced Individually
(more info) $1.20 $1.20

10+ in stock.

#21 84-61393A 
6 WIRE ASSEMBLY, RECTIFIER TO STARTING SWITCH (RED) (1 required per assembly)

 84-61393A 
6

CABLE ASSY O NLA
(more info)

Unavailable

#22 75076 VOLTAGE REGULATOR (1 required per assembly)
BELGIUM 9115165 AND UP

 75076 VOLTAGE REGULATOR O - Replaced
by -95845
(more info)

Unavailable

 95845 REGULATOR-VOLTAGE O - Replaced
by -95845T
(more info)

Unavailable

 95845T 95845T - Voltage Regulator, NLA
(more info) $85.00 $85.00

10+ in stock.

#23 10-74841 SCREW, VOLTAGE REGULATOR TO MANIFOLD COVER (1") (2 required per assembly)
BELGIUM 9115165 AND UP

 10-74841 SCREW O NLA
(more info)

Unavailable

#26 84-74725A 
1

HARNESS ASSEMBLY, VOLTAGE REGULATOR (BLACK/RED) (1 required per assembly)
BELGIUM 9115165 AND UP

 84-74725A 
1

HARNESS ASSY O NLA
(more info)

Unavailable

#27 71663 PLUG, HARNESS (1 required per assembly)
BELGIUM 9115165 AND UP

Mercury Marine 7.5 HP ELECTRIC COMPONENTS Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

5 of 6 7/18/2015 11:38 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 71663 71663 - Plug (more info) $5.20 $5.20
2 in stock.

#28 74361 PLUG, HARNESS TO BOTTOM COWL (1 required per assembly)
BELGIUM 9115165 AND UP

 74361 74361 - Plug (more info) $3.80 $3.80
1 in stock.

#29 84-65017A 
2

HARNESS ASSEMBLY, LIGHTING (EXTERNAL) (1 required per assembly)
BELGIUM 9115165 AND UP

 84-65017A 
2

84-65017A 2 - Harness Assembly
(more info) $68.40 $58.57 Available to

order:
Usually ships
within 8 days

Revise Search: Start Over > Different Engine Model > Different Serial Number Range > Different Component

YOU ARE HERE: MERCURY > 7.5 HP > 3801458 THRU 4851692 (USA) > ELECTRIC COMPONENTS
« Previous | Next »

Subscribe to the MarineEngine.com Newsletter
Periodically we'll send you Tech Tips, How-To's and Boating Information.
Just enter your e-mail address and click Subscribe!

You can easily unsubscribe from the newsletter at any time.

Why Us & Reviews Boat Repair Forum Video Gallery HOME | CONTACT | SHIPPING | RETURNS | CART

Boat Engine PartsBoat Motor ManualsBoat Accessories

About Us | Terms of Use | Privacy Policy MarineEngine.com, 184 Jones Drive, Brandon, VT 05733 USA

© 2015 MarineEngine.com, Inc. All rights reserved. Phone: 802-247-4700 |  Fax: 802-419-3055 |  eMail: info@marineengine.com

Mercury Marine 7.5 HP ELECTRIC COMPONENTS Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

6 of 6 7/18/2015 11:38 PM


